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BACHELOR’S DEGREE PROGRAMME
~ (BDP)
Term-End Examination
June, 2016

ELECTIVE COURSE : ECONOMICS

EEC-13 : ELEMENTARY STATISTICAL METHODS
AND SURVEY TECHNIQUES

Time : 3 hours Maximum Marks : 100
(Weightage : 70%)

Note: Answer any two questions from Section - A,

four questions from Section - B and two questions from
Section - C.

W

SECTION - A 2x20=40

1.  What is a Binomial Distribution ? What are its
Mean and Variance ? Highlight its relation with
Normal Distribution.

2. (a) What are the characteristics of a good
Central Tendency ? 5+15

(b) Calculate Arithmetic Mean and Median
from the following frequency distribution.
Also obtain the value of Mode from the value
of arithmetic mean and median without
calculating it separately.
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Height|No. of persons

60 - 63
63 - 66
66 - 69
69 -72
72-75
75-78

8
28
118
66
16
4

3. (a) Describe the method of fitting polynomials.
(b)  Fit a straight line trend by the method of

- leastsquares. 10+10
Year |2003)|2004 /2005|2006 (200720082009
Output| 81 | 92 {100 [ 105 [ 112 [ 120 | 126

4.  What are the advantages and disadvantages of
sampling ? Explain the procedure of drawing a
simple random sample without replacement.

SECTION - B
5. Distinguish between the concepts of regression
and correlation. Estimate the linear regression
y=a+bx from the following data :

x =1 2 3 4 5

y = 2 5 3 8 7

4x12=48

6.  Compute standard deviation using the following

data :
Class Interval(4-5[6 -7[8-9[10-11[12-13[14 - 15
Frequency [ 4 |10 [ 20| 15 8 3
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7.  Whatis t - test ? How is it used to examine the
significance of the difference between two
samples ?

8. Discuss the desirable properties of an estimator.

9. A machine produces ball bearings with diameter
0.5 inches. The standard deviation of ball bearings
is known to be 0.005 inches. A sample of 100 ball
bearings is selected and their average diameter is
found to be 0.498 inches. Determine the
99 per cent confidence interval.

10. From the data calculate Fisher’s ideal index and
show that it satisfies time reversal test.

2010 2011 -
Good |Price Qnty.|Price Qnty.
A 12 20 | 14 30
B 14 13 | 20 15
C 10 12 | 15 20
D
E

6 8 4 10
8 5 6 5

SECTION - C 2x6=12

11. There are 3 boxes. Box A contains 10 bulbs of
which 4 are defective. Box B has 6 bulbs of which
1 is defective and in Box C out of 8 bulbs 3 are
defective. We select a box at random and a bulb
is drawn from it. What is the probability that it is
defective ?
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12.  Write a short note on rank correlation coefficient.
13. Distinguish between Type -Iand Type - II errors.
14. Prove that the sum of squares of the deviations of

a given set of observations taken from their
arithmetic mean is minimum.
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HAT - 2x20=40

1. fRIFwE? 9% me i v s ¥ ? yamm
7 W TUF WY T YFW S

2. (a) TFR FHEE VA w faPad w2 5+15

(b) Frfafes snafa s @ auis 7 sik it
I HITT) gHiER "reg o) wiftges & 09 Q
Hre &1 AF +ff, T etem ¥ wRewferm e fomm

TS SHifeTg |
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IR |=fwl w1 v
60 - 63 8

63 - 66 28

66 - 69 118

69 -72 66
72-75 16
75-78 4

3. (a) TEUC-ITHE H 1 fAfy 1 0 SIS 10+10
(b) =Few a fafy g sy WEE s sehfed
IS |
g 2003|2004 2005|2006 |2007 {2008 | 2009

Iqred| 81 | 92 | 100 § 105 | 112 | 120 | 126

4. viFETA % o9 e < wn ¥? fa witeams S
e Irgfese Wit @1 wrfafy 1 aof e |

i - @ 4x12=48
5. wEIFAY 3R TEEEY H GHouTeN ® AW TR
Hifey | frefafay i & s T s y=a+bx
STWFHHW:

X
y = 2 5

6. Treafafad sifwel & vam @ AF foauem femfa
o7 st |4 - 516 - 7[8-9[10-11{12 - 13[14 - 15

smqfa | ¢ | 10|20 15 | 8 | 3
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7. 3 - W& 1 ¥ ? THFH WA 2 wiaewl ¥ ofaR #
qrefera i W F § R R S €2

8. ITHOTH % TSI TUIEE! Y == S|

9. I WA 0.5 3 F E T afe 9grar At ¥
i Jafi w1 7k faere, 0.005 391 ¥ €9 § 9
B 100 st@ J3ftn & T 1 w79 fapa s € ol
T 3T 9 0.498 ST ST €1 99% Tergamearan
STae w1 fAyRe Sifew

10. frfafea s § frod-smee g TRef
FifoY IR TR fF a8 Frelerao e ® Hae

m%:

2010 2011
IR | T | e e
Al12 20 [14 30
B|14 13 |20 15
cl10 12 |15 20
D|{é6 8 |4 10
E|8 5 |6 5

| T - 2x6=12
11. dHfess ¥ femrwd 1090 € oo @ 4 Srqof &
fest @ & 6 aca §, 59 § 1 et § ol fo=d 71 H
gaesi H | 3Twyet €1 w9 foel wwk fe= w1 wom
A5 AR W FG 3R 790 § T 9o (e
B wiferan @ R fow = Soqui @1
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12. wife GEEsy ToNw R 949 | A fafae |
13. <9 -1 3R =g - 11 3fedi & o & ww wifwq

14. fog wifeg i et Fyifa Seo ag & wim A
Y g1 forerl 1t AeTee gy g ¥
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